# On Cheney and Sharma type operators reproducing linear functions 

Jorge Bustamante


#### Abstract

With the help of generating functions, we present general conditions to construct positive linear operators which reproduce linear functions. The results are used to present a modification of the Cheney and Sharma operators and the rate of convergence is studied.


Mathematics Subject Classification (2010): 41A35, 41A25.
Keywords: Positive linear operators, generating functions, rate of convergence.

## 1. Introduction

For an interval $I$, let $C(I)\left(C_{B}(I)\right)$ be the space of the real (bounded) continuous functions defined on $I$. As usual, we denote $e_{k}(x)=x^{k}$, for $k \in \mathbb{N}_{0}$.

In [5] Cheney and Sharma introduced a modification of Meyer-König and Zeller operators by defining, for a fixed $t \leq 0, f \in C[0,1]$ and $x \in[0,1)$

$$
\begin{equation*}
L_{n, t}(f, x)=(1-x)^{n+1} \exp \left(\frac{t x}{1-x}\right) \sum_{k=0}^{\infty} f\left(x_{n, k}\right) L_{k}^{(n)}(t) x^{k} \tag{1.1}
\end{equation*}
$$

where

$$
x_{n, k}=\frac{k}{n+k}
$$

and the functions $L_{k}^{(n)}(t)$ are the Laguerre polynomials. It is known that (see [12], p. 101, eq. 5.1.6))

$$
\begin{equation*}
L_{k}^{(n)}(t)=\sum_{j=0}^{k}\binom{n+k}{k-j} \frac{(-t)^{j}}{j!} \tag{1.2}
\end{equation*}
$$

Hence $L_{k}^{(n)}(t) \geq 0$ (for $t \leq 0$ ) and the operators (1.1) are positive. On the other hand, it follows from the properties of Laguerre polynomials that $L_{n, t}\left(e_{0}\right)=e_{0}$ (see [12], p. 101, eq. 5.1.9)). It can be proved that $L_{n, t}\left(e_{1}\right)=e_{1}$ if and only if $t=0$ (see [1]). This property was asserted in [5], but the proof given there is not correct. When $t=0$,
we obtain what are usually called the (slight modification of the) Meyer-König and Zeller operators (see [11]).

The Meyer-König and Zeller operators have been intensively studied and several modifications have been proposed (for instance, see [1], [6], [9], [10], [13] and the references therein).

In Section 3 of this paper we show that the nodes $x_{n, k}$ in (1.1) can be selected in such a way that the new operators reproduce linear functions, and we also give an estimate of the rate of convergence (in terms of the so called Ditzian-Totik moduli). First, in Section 2, we analyze the problem for general positive linear operators constructed by means of generating functions. Finally, in the last section we provide another example to show that the general approach of Section 2 can be used to modify other known operators.

## 2. Generating functions

Let us begin with a general approach to construct positive linear operators.
Theorem 2.1. Fix $a>0$ and sequence $\left\{a_{k}\right\}$ of positive real numbers such that

$$
\begin{equation*}
\limsup _{k \rightarrow \infty}\left(\frac{a_{k}}{k!}\right)^{1 / k}=\frac{1}{a} \tag{2.1}
\end{equation*}
$$

and set

$$
\begin{equation*}
g(z)=\sum_{k=0}^{\infty} \frac{a_{k}}{k!} z^{k}, \quad|z|<a \tag{2.2}
\end{equation*}
$$

Let $\left\{y_{k}\right\}_{k=0}^{\infty}$ be any increasing sequence of points satisfying $y_{k} \in[0, a)$.
(i) If $f:[0, a) \rightarrow \mathbb{R}$ is a bounded function and $x \in[0, a)$, then the series

$$
\begin{equation*}
L(f, x)=\frac{1}{g(x)} \sum_{k=0}^{\infty} \frac{a_{k}}{k!} f\left(y_{k}\right) x^{k} \tag{2.3}
\end{equation*}
$$

defines a function that is continuous on $[0, a)$.
(ii) The map $L$ defines a positive linear operator in $C_{B}[0, a)$ which reproduces the constant functions.
(iii) One has $L\left(e_{1}\right)=e_{1}$ if (and only if) $y_{0}=0$ and

$$
\begin{equation*}
y_{k+1}=\frac{(k+1) a_{k}}{a_{k+1}}, \quad \text { for } \quad \text { all } \quad k \geq 0 \tag{2.4}
\end{equation*}
$$

(iv) Suppose that $y_{k} \longrightarrow a$ and $g(x) \longrightarrow \infty$ as $x \longrightarrow a$. If $f \in C[0, a]$ and we set $L(f, a)=f(a)$, then $L(f) \in C[0, a]$.
Proof. (i) It follows from (2.1) that $g$ is an analytic function in the domain $|z|<a$. If $|f(x)| \leq C(f)$ for $x \in[0, a)$, then $|L(f, x)| \leq C(f) g(x)$ and the series converges uniformly on the compact subsets of $[0, a)$.
(ii) It is clear that $L(f)$ is well defined for each $f \in C_{B}[0,1]$ and $L$ is a positive linear operator on this space. The assertion $L\left(e_{0}\right)=e_{0}$ follows from (2.2).
(iii) If $L\left(e_{1}\right)=e_{1}$, then $L\left(e_{1}, 0\right)=a_{0} e_{1}\left(y_{0}\right)=e_{1}(0)=0$. Since $a_{0}>0$, we obtain $y_{0}=0$. On the other hand, if $y_{0}=0$, then $L\left(e_{1}, 0\right)=0=e_{1}(0)$.

For $0<x<a$,

$$
\begin{aligned}
L\left(e_{1}, x\right) & =\frac{x}{g(x)} \sum_{k=1}^{\infty} \frac{a_{k}}{k!} y_{k} x^{k-1}=\frac{x}{g(x)} \sum_{k=0}^{\infty} \frac{a_{k}}{k!} \frac{a_{k+1} y_{k+1}}{a_{k}(k+1)} x^{k} \\
& =x+\frac{x}{g(x)} \sum_{k=0}^{\infty} \frac{a_{k}}{k!}\left(\frac{a_{k+1} y_{k+1}}{a_{k}(k+1)}-1\right) x^{k} .
\end{aligned}
$$

Thus, $L\left(e_{1}, x\right)=x$ if and only if

$$
\frac{a_{k+1} y_{k+1}}{a_{k}(k+1)}=1, \quad \text { for } \quad \text { all } \quad k \geq 0
$$

and this is equivalent to (2.4).
(iv) Fix $\varepsilon>0$ and $t>0$ such that $|f(x)-f(a)|<\varepsilon / 2$, whenever $|x-a|<t$. Since $y_{k} \longrightarrow a$, there exists a natural $m$ such that $\left|y_{k}-a\right|<t$, for all $k>m$. Set

$$
C=\sup _{x \in[0, a]}\left|\sum_{k=0}^{m} \frac{a_{k}}{k!} x^{k}\right|
$$

On the other hand, there exists $\delta>0$ such that, if $0<a-x<\delta$, then

$$
\frac{1}{g(x)}<\frac{\varepsilon}{4 C(1+\|f\|)}
$$

where we consider the sup norm on $[0, a]$. Therefore, if $0<a-x<\delta$, then

$$
\begin{aligned}
|L(f, x)-f(x)| & =\left|\frac{1}{g(x)} \sum_{k=0}^{\infty} \frac{a_{k}}{k!}\left(f\left(y_{k}\right)-f(a)\right) x^{k}\right| \\
& \leq \frac{2\|f\|}{g(x)} \sum_{k=0}^{m} \frac{a_{k}}{k!} x^{k}+\frac{1}{g(x)} \sum_{k=m+1}^{\infty} \frac{a_{k}}{k!}\left|f\left(y_{k}\right)-f(a)\right| x^{k} \\
& \leq \frac{2\|f\| C}{g(x)}+\frac{\varepsilon}{2} \frac{1}{g(x)} \sum_{k=0}^{\infty} \frac{a_{k}}{k!} x^{k}<\varepsilon .
\end{aligned}
$$

This proves the assertion.
Notice that, in order to use condition (2.4), we also need the inequality

$$
a_{k}<a \frac{a_{k+1}}{k+1}, \quad(k \geq 0)
$$

which follows from the conditions $y_{k} \in[0, a)$.
In the next result we consider the case $a=1$.
Theorem 2.2. Suppose that the analytic function $h$ has the expansion

$$
h(z)=\sum_{k=0}^{\infty} b_{k} z^{k}, \quad|z|<1
$$

with $0<b_{k-1}<b_{k}$, for all $k \in \mathbb{N}$. Then the equation

$$
\begin{equation*}
L(f, x)=\frac{1}{h(x)} \sum_{k=0}^{\infty} b_{k} f\left(\frac{b_{k-1}}{b_{k}}\right) x^{k}, \quad x \in[0,1) \tag{2.5}
\end{equation*}
$$

where $b_{-1}=0$, defines a positive linear operator, $L: C_{B}[0,1) \rightarrow C_{B}[0,1)$ such that $L\left(e_{0}\right)=e_{0}$ and $L\left(e_{1}\right)=e_{1}$.

Moreover, if

$$
\begin{equation*}
\lim _{x \rightarrow 1-} h(x)=\infty, \quad \lim _{k \rightarrow \infty} \frac{b_{k-1}}{b_{k}}=1 \tag{2.6}
\end{equation*}
$$

and we set $L(f, 1)=f(1)$, then $L: C[0,1] \rightarrow C[0,1]$.
Proof. With the notation given above, one has $k!b_{k}=a_{k}$ and $a \geq 1$. Thus, in this case, equation (2.4) can be written as

$$
y_{k+1}=\frac{(k+1) a_{k}}{a_{k+1}}=\frac{b_{k}}{b_{k+1}}<1, \quad \text { for } \quad \text { all } \quad k \geq 0
$$

## 3. A variation of Cheney and Sharma operators

Theorem 3.1. Fix $t \leq 0$ and let the numbers $L_{k}^{(n)}(t)(n \in \mathbb{N}, k \geq 0)$ be defined by (1.2) and set $L_{-1}^{(n)}=0$. Then the equation

$$
\begin{equation*}
S_{n, t}(f, x)=(1-x)^{n+1} \exp \left(\frac{t x}{1-x}\right) \sum_{k=0}^{\infty} L_{k}^{(n)}(t) f\left(\frac{L_{k-1}^{(n)}(t)}{L_{k}^{(n)}(t)}\right) x^{k} \tag{3.1}
\end{equation*}
$$

where $L_{-1}^{(n)}(t)=0$ and $x \in[0,1)$, defines a positive linear operator on $C_{B}[0,1)$ such that

$$
\begin{equation*}
S_{n, t}\left(e_{0}, x\right)=1, \quad S_{n, t}\left(e_{1}, x\right)=x \tag{3.2}
\end{equation*}
$$

and

$$
\begin{equation*}
0 \leq S_{n, t}\left(e_{2}, x\right)-x^{2} \leq x^{2}+\frac{2 x(1-x)(1-t x)^{2}}{n} \tag{3.3}
\end{equation*}
$$

Moreover, if for $f \in C[0,1]$ we set $S_{n, t}(f, 1)=f(1)$, then $S_{n, t}: C[0,1] \rightarrow C[0,1]$.
Proof. Since $t$ will be fixed, in order to simplify, we write $L_{k}^{(n)}$ instead of $L_{k}^{(n)}(t)$.
It is known that (see [12], p. 102, Eq. (5.1.14) and (5.1.13))

$$
\begin{equation*}
\frac{L_{k}^{(n)}}{L_{k+1}^{(n)}}=\frac{k+1}{n+k+1}+\frac{t}{n+k+1} \frac{L_{k}^{(n+1)}}{L_{k+1}^{(n)}} \tag{3.4}
\end{equation*}
$$

and

$$
\begin{equation*}
\frac{L_{k}^{(n)}}{L_{k+1}^{(n)}}=1-\frac{L_{k+1}^{(n-1)}}{L_{k+1}^{(n)}} \tag{3.5}
\end{equation*}
$$

From the last equation we know that $L_{k}^{(n)}<L_{k+1}^{(n)}$. Thus the operators (3.1) are well defined and it follows from the first part of Theorem 2.2 that (3.2) holds.

Let us verify (3.3). Since $S_{n-t}$ is a positive linear operator, from (3.2) we know that $0 \leq S_{n, t}\left(\left(e_{1}-x\right)^{2}, x\right)=S_{n, t}\left(e_{2}, x\right)-x^{2}$.

From (1.2) we know that

$$
\begin{equation*}
L_{k}^{(n+1)}=\sum_{j=0}^{k} \frac{k+1-j}{n+1+j}\binom{n+k+1}{k+1-j} \frac{(-t)^{j}}{j!}<\frac{k+1}{n+1} L_{k+1}^{(n)} . \tag{3.6}
\end{equation*}
$$

and from (3.4) and (3.5) we obtain (recall that $t \leq 0$ )

$$
\begin{aligned}
L_{k}^{(n)} \frac{L_{k}^{(n)}}{L_{k+1}^{(n)}} & =L_{k}^{(n)}-L_{k+1}^{(n-1)} \frac{L_{k}^{(n)}}{L_{k+1}^{(n)}} \\
& =L_{k}^{(n)}-L_{k+1}^{(n-1)}\left(\frac{k+1}{n+k+1}+\frac{t}{n+k+1} \frac{L_{k}^{(n+1)}}{L_{k+1}^{(n)}}\right) \\
& \leq L_{k}^{(n)}-L_{k+1}^{(n-1)} \frac{k+1}{n+k+1}-L_{k+1}^{(n-1)} \frac{t(k+1)}{(n+1)(n+k+1)}
\end{aligned}
$$

Let us set $g_{n}(x)=(1-x)^{n+1} \exp (t x /(1-x))$. From the last estimate, taking into account that $L_{-1}^{(n)}(t)=0$, for $n>2$ and $x \in(0,1)$ we obtain

$$
\begin{aligned}
& S_{n, t}\left(e_{2}, x\right)= g_{n}(x) \sum_{k=1}^{\infty} L_{k-1}^{(n)}\left(\frac{L_{k-1}^{(n)}}{L_{k}^{(n)}}\right) x^{k}=x g_{n}(x) \sum_{k=0}^{\infty} L_{k}^{(n)}\left(\frac{L_{k}^{(n)}}{L_{k+1}^{(n)}}\right) x^{k} \\
& \leq x g_{n}(x) \sum_{k=0}^{\infty}\left(L_{k}^{(n)}-\frac{n+1+t}{n+1} \frac{k+1}{n+k+1} L_{k+1}^{(n-1)}\right) x^{k} \\
&= x-\frac{(n+1+t)}{n+1} g_{n}(x) \sum_{k=0}^{\infty}\left(\frac{k+1}{n+k+1} L_{k+1}^{(n-1)}\right) x^{k+1} \\
&= x-\frac{(n+1+t)}{n+1} g_{n}(x) \sum_{k=0}^{\infty}\left(L_{k}^{(n-1)} \frac{k}{n+k}\right) x^{k} \\
&=x- \frac{(n+1+t)}{n+1} g_{n}(x) \sum_{k=0}^{\infty}\left(L_{k}^{(n-1)} \frac{k}{n-1+k}\left(1-\frac{1}{n+k}\right)\right) x^{k} \\
&=x-\frac{(n+1+t)(1-x)}{n+1} L_{n-1, t}\left(e_{1}, x\right) \\
& \quad+\frac{n+1+t}{n+1} g_{n}(x) \sum_{k=0}^{\infty}\left(L_{k}^{(n-1)} \frac{k}{(n-1+k)(n+k)}\right) x^{k} \\
&=x^{2}-\frac{t x(1-x)}{n+1}\left(L_{n-1, t}\left(e_{1}, x\right)-x\right)-\frac{t x(1-x)}{n+1} \\
&+g_{n}(x) \sum_{k=1}^{\infty}\left(L_{k}^{(n-1)} \frac{k}{(n-1+k)(n+k)}\right) x^{k} \\
& \leq x^{2}-\frac{t x(1-x)}{n+1}\left(L_{n-1, t}\left(e_{1}, x\right)-x\right)-\frac{t x(1-x)}{n+1} \\
& \quad+\frac{1}{n} g_{n}(x) \sum_{k=1}^{\infty}\left(L_{k}^{(n-1)} \frac{k}{n-2+k}\right) x^{k} \\
&=x^{2}-\frac{t x(1-x)}{n+1}\left(L_{n-1, t}\left(e_{1}, x\right)-x\right)-\frac{t x(1-x)}{n+1}+\frac{1-x}{n} L_{n-1, t}\left(e_{1}, x\right) .
\end{aligned}
$$

Since (see Theorem 1 of [1])

$$
L_{n, t}\left(e_{1}, x\right) \leq x-\frac{t x}{n+1}
$$

one has

$$
\begin{aligned}
S_{n, t}\left(e_{2}, x\right) & \leq x^{2}+\frac{(t x)^{2}(1-x)}{(n+1)^{2}}-\frac{t x(1-x)}{n+1}+\frac{1-x}{n}\left(x-\frac{t x}{n}\right) \\
& \leq x^{2}+\frac{x(1-x)}{n}-\frac{2 t x(1-x)(2-t x)}{n}
\end{aligned}
$$

For the last assertion, first notice that, since $t \leq 0$,

$$
\lim _{x \rightarrow 1-} \frac{1}{(1-x)^{n+1}} \exp \left(\frac{-t x}{1-x}\right)=\infty
$$

In order to finish, we only need to verify the second equality in (2.6). But it is a known result (for instance, see [3]).

Theorem 3.2. Fix $\alpha \in(0,1 / 2]$ and set $\varphi(x)=(x(1-x))^{\alpha}$. For $t \leq 0$, let the operators $S_{n, t}$ be defined as in Theorem 3.1. For $f \in C[0,1], x \in[0,1]$, and $n>2$ one has

$$
\left|f(x)-S_{n, t}(f, x)\right| \leq\left(\frac{3}{2}+3(1-t x)^{2}\right) \omega_{2}^{\varphi}\left(f, \sqrt{\frac{(x(1-x))^{1-2 \alpha}}{n}}\right)
$$

where

$$
\omega_{2}^{\varphi}(f, h)=\sup _{0 \leq s \leq h} \quad \sup ^{x \pm s \varphi(x) \in[0,1]}| | \Delta_{h \varphi(x)}^{2} f(x) \mid
$$

and $\left.\Delta_{h \varphi(x)}^{2} f(x)=f(x-s \varphi(x))\right)-2 f(x)+f(x+s \varphi(x))$.
Proof. The result follows from (3.3) and Theorem 11 of [4].

## 4. Another example

Fix $r \in \mathbb{Z}$ and, for $n \in \mathbb{N}$, consider the identity

$$
\frac{1}{(1-z)^{n+r}}=\sum_{k=0}^{\infty} b_{n, k} z^{k} \quad|z|<1,
$$

where

$$
b_{n, k}=\binom{n+r+k-1}{k}
$$

We also set $b_{n,-1}=0$. Notice that, for $k \geq 1$,

$$
\frac{b_{n, k-1}}{b_{n, k}}=\frac{k}{n+r+k-1} .
$$

Thus we have all the conditions of Theorem 2.2.

Theorem 4.1. Fix $r \in \mathbb{N}$. For $n \in \mathbb{N}, f \in C[0,1]$ and $x \in[0,1)$ set

$$
M_{n, r}(f, x)=(1-x)^{n+r} \sum_{k=0}^{\infty}\binom{n+r+k-1}{k} x^{k} f\left(\frac{k}{n+r+k-1}\right)
$$

and

$$
M_{n, r}(f, 1)=f(1)
$$

(i) For each $n \in \mathbb{N}, M_{n, r}: C[0,1] \rightarrow C[0,1]$ is a positive linear operator such that

$$
M_{n, r}\left(e_{0}, x\right)=1, \quad M_{n, r}\left(e_{1}, x\right)=x
$$

and, for $n>2$

$$
\begin{equation*}
\frac{x(1-x)^{2}}{2(n+r-2)} \leq M_{n, r}\left(e_{2}, x\right)-x^{2} \leq \frac{x(1-x)^{2}}{n+r-2} \tag{4.1}
\end{equation*}
$$

(ii) Fix $\alpha \in(0,1 / 2]$ and set $\varphi(x)=\left(x(1-x)^{2}\right)^{\alpha}$. For $f \in C[0,1], x \in[0,1]$, and $n>2$ one has

$$
\left|f(x)-M_{n, r}(f, x)\right| \leq 3 \omega_{2}^{\varphi}\left(f, \sqrt{\frac{\varphi^{1-2 \alpha}(x)}{n+r-2}}\right)
$$

Proof. We only need to verify (4.1). With the notation given above, one has

$$
\begin{aligned}
& M_{n, r}\left(e_{2}, x\right)-x^{2}=(1-x)^{n+r} \sum_{k=1}^{\infty} b_{n, k-1} \frac{b_{n, k-1}}{b_{n, k}} x^{k}-x^{2} \\
& =x\left((1-x)^{n+r} \sum_{k=1}^{\infty} b_{n, k-1} \frac{b_{n, k-1}}{b_{n, k}} x^{k-1}-x\right) \\
& =x(1-x)^{n+r} \sum_{k=0}^{\infty} b_{n, k}\left(\frac{b_{n, k}}{b_{n, k+1}}-\frac{b_{n, k-1}}{b_{n, k}}\right) x^{k} \\
& =x(1-x)^{n+r} \sum_{k=0}^{\infty} b_{n, k}\left(\frac{k+1}{n+r+k}-\frac{k}{r+n+k-1}\right) x^{k} \\
& =x(1-x)^{n+r} \sum_{k=0}^{\infty} b_{n, k}\left(\frac{n+r-1}{(n+r+k)(r+n+k-1)}\right) x^{k} \\
& \quad=x(1-x)^{n+r} \sum_{k=0}^{\infty} b_{n-1, k}\left(\frac{1}{n+r+k}\right) x^{k} \\
& =x(1-x)^{n+r} \sum_{k=0}^{\infty} \frac{(n+r+k-2)(n+r+k-3)!}{(n+r-2) k!(n+r-3)!}\left(\frac{1}{n+r+k}\right) x^{k} \\
& \quad=\frac{x(1-x)^{n+r}}{n+r-2} \sum_{k=0}^{\infty} b_{n-2, k}\left(\frac{n+r+k-2}{n+r+k}\right) x^{k} .
\end{aligned}
$$

Therefore, for $n>2$,

$$
\frac{x(1-x)^{2}}{2(n+r-2)}=x(1-x)^{n+r} \sum_{k=0}^{\infty} b_{n-2, k} \frac{1}{2(n+r-2)} x^{k}
$$

$$
\begin{aligned}
& \leq \frac{x(1-x)^{n+r}}{n+r-2} \sum_{k=0}^{\infty} b_{n-2, k}\left(\frac{n+r+k-2}{n+r+k}\right) x^{k} \\
& =M_{n, r}\left(e_{2}, x\right)-x^{2} \\
& \leq \frac{x(1-x)^{2}}{n+r-2}(1-x)^{n-2+r} \sum_{k=0}^{\infty} b_{n-2, k} x^{k}=\frac{x(1-x)^{2}}{n+r-2} .
\end{aligned}
$$

Remark 4.2. In [8] (p.17), Götz introduced the operators

$$
M_{n, r}^{*}(f, x)=(1-x)^{n+r} \sum_{k=0}^{\infty}\binom{n+r+k-1}{k} x^{k} f\left(\frac{k}{n+k}\right) .
$$

They are similar to the Meyer-König and Zeller operators, but they do not reproduce linear functions (see also [2], p. 126).

## References

[1] Adell, J.A., de la Cal, J. and Pérez-Palomares, A., On the Cheney and Sharma operator, J. Math. Anal. Appl., 200(1996), 663-679.
[2] Alkemade, J.A.H., On a differential equation and the Laplace-Stieljes transform in the theory of linear positive operators, Thesis, Delft University Press, 1984.
[3] Álvarez-Nodarse, R. and Moreno-Balcázar, J.J., Asymptotic properties of generalized Laguerre orthogonal polynomials, Indagationes Mathematicae, 15(2)(2004), 151-165.
[4] Bustamante, J., Estimates of positive linear operators in terms of second-order moduli, J. Math. Anal. Appl., 345(2008), 203-212.
[5] Cheney, E.W. and Sharma, A., Bernstein power series, Canad. Journal of Math., 16(1964), 241-252.
[6] Gavrea, I. and Trif, T., The rate of convergence by certain new Meyer-König and Zeller operators of finite type, Supplemento ai Rendiconti del Circolo Matemático di Palermo, Serie II, 76(2005), 375-394.
[7] Gonska, H., On the degree of approximation in Voronovskaja's theorem, Studia Univ. Babes-Bolyai Math., 52(3)(2007), 103-115.
[8] Götz, B., Approximation durch lineare positive Operatoren und ihre Linear-kombinationen, Dissertation Stuttgart, 1977, 111 p.
[9] Guo, S., Li, C. Qi, Q., Strong converse inequalities for Meyer-König and Zeller operators, J. Math. Anal. Appl., 337(2008), 994-1001.
[10] Gupta, V. and Kumar, N., A note on integral modification of the Meyer-König and Zeller operators, IJMMS, 31(2003), 2003-2009.
[11] Meyer-König, W. and Zeller, K., Bernsteinsche Potenzreihen, Studia Math., 19(1960), 89-94.
[12] Szegö, G., Orthogonal Polynomials, New York, 1939.
[13] Della Vecchia, B. and Duman, O., Weighted approximation by Meyer-König and Zeller operators, Studia Scien. Math. Hungar, 44(4)(2007), 445-467.

Jorge Bustamante
Benemérita Universidad Autónoma de Puebla Fac. Ciencias Físico Matemáticas,
Av. San Claudio y Río Verde, San Manuel,
62570 Puebla, Puebla, Mexico
e-mail: jbusta@fcfm.buap.mx

